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ACCOUNTANCY

Full Marks : 100

Pass Marks : 30
Time : Three hours
The figures in the margin indicate full marks

for the questions.

Q. No. 1 carries 1 mark each

1 (a) 1)(4 = 4

1. (b) 1x2 = 2

1(c) 12 = 2

Q. Nos. 2-6 carry 2 marks each ’ 2x5 = 10
Q. Nos. 7-11 carry 3 marks each 3x5 = 15
Q. Nos. 12-18 carry 5 marks each 5x7 = 35
Q. Nos, 19-22 carry 8 marks each 8x4 = 32

——eee
Total =100
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17 () Fill in the blanks with appropriate word/words : 1x4=4
TS *[wa ARGE =71 T 3

i)  Unrccorded liabilities when paid are debited to

Account.
YR oMl @R wfedy w41 0, ool __ fivtors cofdo
B X
(i) Life Membership Fee is a __ receipt.
GRETA e AR (TR _ I |
@) A partner acts as of the firm.

GG G ASHOR GE eIt T IR

. @) A company is required to publish its ____ every year.
Bt AT ofs 7T T oo SR =
@) Choose the correct alternative : 1x2=2
o7 SGI0! ARE 4 2
i L : .

() .When a new partner does not bring in his share of goodwill in
cash, the amount of premium is debited to:

font 99 SR GETEH &ﬁamwmaﬁwwﬁa ERIE, cofedl

fefsemm sy cefke = =W
(n) Premium Account
farferr ot

() Cash Account ' ,‘
GRIEECL
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(¢) Capital Account of new partner
T wimiT e fEpret
()  Capital Account of old partner.
i wAmR e o
(i  Financial statements are :

el Raform = ¢

(/) Summarised reports of recorded facts

AT SR ke i
() Detailed reports of recorded facts
AT SRR Ko afermw

, (c) Summarised reports of only cash transactions

(T AWM (A0 R Y St

(d) None of the above.
89T OIS TR |

/{Q State whether the following statements are “True” or “False” :

' o 1x2=2 .
TR IR @ &7 7 Ges B |
i Subscription received in advance is an asset.
waaeiad e X' GOt TAfa
i) Interest on debenture is payable only when a company earns

profits. . N
QAN TS Sl RN I91R 8o 77 e 741 2 |
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27 Mention two differences between Receipls and Payments account and

M b4 - . ] . . . .
,4./ Give two situations under which a partnership firm is dissolved.

>

6.

}.

8.

Income and Expenditure account. 2
Tl & 2o @i wm-am Giem area gor w1 Srme 9=
What is Premium for Goodwill ? 2
R el s fee

2

SRl SR @eiRe = ol g5y AR S =0

A, Band Care partnLrs sharmg prohts in the ratio 3:2:1. A retires. B and

C have decided to take up A’s share equally. Calculate the new ratio. 2

A, BWC-\!IS 11 Seiiee Fre faeqd 9| A-(@ S 9% 0 B Ui

C-& A 3 GBI AW SR AR Frars o | 7Ton &S IR =i f[ea war)

Name any two ilems of current assets. ‘ 2
| Rzt g vfere TR A Rl

Mention three uses of financial statement. 3

e afSrwa feAbr Jaga T <)

What is common size statement ? Mention.its fwo uscs. 1+2=3

AR AT 2 AR 7hr 9% T = |
' OR/ &t
Current Ratio is 3-5:1 and Quick Ratio 2:5: 1. Inventory is I 50,000,

Calculate current asset and current liabilities. 3

5T AT 3.5 : 1 Il O TS 2.5 ; 1|*Tsm9{ﬁsncmsoooms%—mﬁ
% 6feTe R Afel fdfa )
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,Q/

}Q.’

Explain the super profit method of valuation of goodwill.

AR A S FiRE Amts e 79|

State tliree features of Not-for-profit organisation.

TS TS Sl AL 66T feiul Caf<ier Srael =l

OR/ 7Rt

Ca-lculale the amount of subscription to be credited to Income and

Expenditure Account for the year ended 31st March, 2019.

3

2019 54 31 =vS Rl fq G- am Zplofe (s FRREIE FRea '»n?rncr
Refg ==

(i)

(ii)

(iii)

(iv)

(@)

Subscnptlon received during the year ended 31st March, 2019,
T 2,50, 00') A
315t T 2019 © W @1 T oS CAAl TR~ 2,50,000 B

Outstanding subscription on 1. 4. 2018 — 2 50,000.

" 1. 4. 2018 Siffte o= =2y FqR 50,000 5 |

Outstanding subscription on 31.3. 2019 — ¥ 35,000.
31.3. 2019 SIRTR 217l Geiie I 35,000 5014
Advance subscription on 1.4.2018 — % 25,000.

1. 4. 2018 SRy TEM elid e 25,000 T |
Advance subscription on 31. 3. 2019 — ¥ 30,000.

" 31, 3. 2019 ©Ifatz X Giaw el I 30,000 B |

3’1-/ What is gaining ratio ? Give fwo distinctions between gaining ratio and

30T ACou

sacrificing ratio.

@mqmmqrﬂmﬁs?@w—ammon—mwtmﬂmmﬁ/

1+2=3"

“Atefay et
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OR/ A&t

What are the items shown under shareholders’ fund ?

GeaeTd R foowe (el fag oz & B2

12./ Prepare Income and Expenditure Account from the following Receipts and

Payments Account of Ekta Club for the yeat 31st December, 2018:

5

31 SR 2018 ©IRtY (@A 4=5a0E AR GFel FiAT Gere il Tl i IB
251+l TOR IR WE-IW e 2% T4 8

Receipts and Payments Account (T =% A6 fZpieh)

Receipts (S=) ® Payments (3<5) ®
Cash in hand on 1.1.2018 4,400 | Salary (%39R) 6,800
(1.1.208 SRS FoS & | | Rent (o) 8,250
|1 &) Investment (RETS) 3,500
Admission Fee ‘ 3500 | postage (1) 1,250
(T A=) Telephone charges 750
Subscriptions (F7ef) 19,500 | (Gfia <4p)

Receipts from Billiard Room 2,500 | Books Purchased 6,000
(RFErIE = ol (oA ) (Rretel @)
Interest/ on Investment 600 | Outstanding Expenses 700
(RfFiToR @ofzs o). (SRR B)
Life Membership Fee 2,000 [ Cash in hand or't 31_ 12.18 5,700
(SIERA 700 Mge) (31.12. 18 WIS oo 2
Sale of Furniture 100 | w5 &1)
(S5 &) o
Miscellaneous Receipts 350
(Rfen =) -
32,950 BETE

30T ACOU
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Additional information :

ol o2 3

(i)  Outstanding subscription ¥ 1,000.
GRIAR TREf sifFmd 1,000 G |

(i)  60% of the admission fces and lhe whole of the life membership
subscriptions are to be capitalised.

A TR 60% WA WG A7 FHES A=w4ef0e Tasengs (99 ol |

(iti) Depreciation on Books 2 600.
e @oRe CrrFR SR 600 G|

OR/ %At
What is the meaning of Fund Based Accounting? Mention any three.
principles of Fund Based Accounting. 2+3=5

“Jfer fofes fiprim=er a & Jfafefer Botim=ez R Rf6 S S |

13. "X Ltd. made a profit of %5,00,000 after considering the following items: 5
%ﬁmmﬁwwwﬁrsmoooWarWasﬁ%o
(i) Preliminary expenses written off — 25, 000 -
23T TR Re=et A — 5,000 T
(ii) Depreciation on fixed assets — ¥ 50,000
i TR @Fy — 50,000 B
(iij) Loss on sale of machinery — 320,000
Tgeiifs ReFR o1 CaIal GARBI — 20,000 5
(iv) Provision for doubtful debts — 310,000
SR 4R A SRTe 9 — 10,000 S

(v) Gain on sale of Land — 27,500
oft it o @4l w® — 7,500 T

30T ACOU ' ’ [7] Contd.



Position of current assels and current liabilities :
s Amife s v oim omiERs ¢

2017 (%) 2018 (3)

Debtars (GR19R) 52,000 78,000
Bills Receivables (2177 =) "~ 15,000 12,000
Prepaid expenses (@S9 eme amm) - 2,000 3,000
Creditors (#i1GAMR) 40,000 51,000
Bills Payable (2it7a f3e) ’ 19,000 12,000
Expenses Payable (W€ I5H) 34,000 20,000
Calculate cash from operating activities.
AR T ofal 79 erE A Fef

OR/ "
What is meant by “cash equivalents” ? Mention any three objectives of
preparing cash flow statement. 243=5

“om AT WA [ Io IW e Ao LA AT 2R IRR A [l
TRy T T

}zt./ Calculate the values of opcning'and closing stock from the following

information : , 5
frafifre TUAPRl TRER G AR Tge 1R ARse fdg w9 s
Cost of goods sold ~ —  22,00,000
(R =1 Amda Tagen)
Stock Turnover Ratio — 8 times
L (TR TR Tee) — (8 AR)

Stock at the beginning is 1.5 times more than the stock at the end.

gl T FiEMlR TgeemetE 1.5 o @

50T ACOU (8]



OR/ R3¢

What is Ratio Analysis ? Mention imy three uses of ratio analysis.

e Rrew R empire Roeasa Ry 65 a9z S 911

2+3=5

Ram, Shyam and Mohan were in partnership sharing'profits and losses in
the ratio of 3:2:1. On 31.12. 2018 Shyam retired from the firm, Balance

Sheet of the firm on that date was as under: 2+3=5

[, XPE VS CAIZE 3:2: 1 WIS AS-(ER6H 354 FR AW e F-

wiifeE 1 31. 12, 2018 SR =g AfSHR <Rt SReReT 9@ | GRSk 2fosE
TFG AT oS Al 41 i ¢

Balance Sheet (%53 @)

. Liabilities (G#) @ |  Assets Fifa) - ®)
Sundry Creditors 5,000 | Cash (A 1) 600
(R4 siteamR) Debtors (GFIMR) 15,000
Reserve (%) 6,000 | Less: Provision 1,500 13,500
Bills Pavable (273 &) 2,600 (7i%ef) _ |
Capital (:F"m) H Stock (ﬂw O{OU) . 18,500

Ramn 20,000 Furniture (963R) ~ 8,000
(?1*-!) Machinery. (31f) © -] 20,000
Shyam - 15,000
(*7T=1)
Mohan 12,000 47,000
(€arZ=)

60,600 60,600

30T ACOU (9]



The terms of retirement were :

TR O TilfeE 8
(i)  Goodwill of the firm to be valued at ¥12,000.
I SRR EURA 12,000 B316 341 TR

(ii) - Machinery to be appreciated by % 5,000.
TS 757 5,000 T I “AR|

(iij) Furniture to be depreciated by % 1,000.

W51 TR 1,000 TR S 7

(iv) Provision for bad debts to be increased by ¥ 400.
R 3 IR 400 SR I WA

Prepare Revaluation Account and Partners’ Capital Account.

TR {519 W SRTRA S Rotet ergs 71
OR/ 733t

What is share ? Explain different types of shares. 243=5

wieta e Rfon oeR aeiiel IR =1
J/b./ What is Profit and Loss Appropriation Account ? Why is it preéared ?

. _ 2+3=5
e @ Sorare ot e @ Biet 7 eres Tt =me

30T ACOU (0]



OR/ TZqt

Ajoy, Bijoy and Sanjay were partners in a firm sharing profits in the ratio

. of 3:2:1. On 31st March, 2019 their Balance Sheet was as under : 5

e, e Wi Az 3:2:1 wpies e Rearef qun efeim et

ST 31st 6, 2019 wifkers codtmrF Ve oS fm e i ¢

Balance Sheet (T5g °ia)

Liabilities (GF) G Assets (7f%) @)
Creditors 14,000 Building (<) 20,000
(NSTR) ' Machinery (I2#1ifS) 16,000
Reserve 6,000
s R) : Stock (TGS 9i7) 5,100
Capital : Debtors (AR ) 6,000
() _ Cash at Bank (R$3® wat) 6,900

Ajoy 1 24,000 '
Bijoy : 12,000 .
Sanjay : 8,000 44,000
54,000 " 54,000

Ajoy died on 30. 9. 2019. Under the partnership agreement the executors of

a deceased partner were entitled to:

30.9. 2019—1ﬁ=r"A;oy-a‘qﬁim§ﬁ*ma—wﬁw aﬁﬁfa‘ TR A7 2

(@) * Amount standing to the credit of Partners Capital account,

wefined e Bo1PR (@R <=t altely 4|

(b) Interest on Capital @ 12% p.a.

asﬁ 12% QY T Gm’iﬁl

30T ACOU
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(c) Share of goodwill on the basis of 4 years purchase of last 3 years
average profits.

Fisis R = oI @rea v <o T TR EFrE @@ FaEE e |

(d) -Share of profit from the closing of the last financial year to the date

of death on the basis of last year’s profit.

Rore Tz wres fofe Ronat R teor Rors e Aefd o =1l T2
SR Fte W |

“e)  Profits for the last three years were:

Rors Foft 2w =Te Wit ¢
Ygar/?ﬂ’ | Profil/.aw
| (%)
2016 - 17 8,000/~
. 2017 - 18 , 12,000/ -
2018 - 19 7,000/-

Prepare Ajoy’s Capital Account on the date of his death.

Ajoy-3 o IS (964 e oot os |

{1/7/ What is dissolution of partnership ? How does it differ from dissolution of
firm? : ' 2+3=5

AT SRR e 52 el IR SR O 3 R ojae?

30T ACOU . [12)



OR/ 7%

Dipati and Rajshri were partners in a firm sharing profits and losses in the
3:2. They decided to dissolve their firm on 31st December, 2019,
when their Balance Shect was as under: - -

ratio of

FAl i ATl 322 wetres SIS ERGR 39T I G2 fHE SR
IR | (ST 31 Rerpm, 2019 wiRere 2RYRIER SR Frars e, el
(CETTRA Tqaeian were fmm Wi e ¢

Balance Sheet (S5G #@)

Liabilities (C791) ® Assets (F71fS) ()
Capital : Land (gfi) 16,000
() & Investments (RfAcaish) 4,000

Dipali 18,400 L
Rajshri 10,600 29,000 Sundry Debtors 2,000
E— ’ (Rfk =mR)
Sundry Creditors . 2,000
(ﬁﬁij -~ ) . ] Stock (TS <) 3,000 N
Cash at Bank (@S Tmall) 6,000
31,000 31,000

30T ACoy [13]

Investments are sold at ¥ 3,800. Other assets realised as follows :
Land — ¥28,000, Sundry Debtors — 21,800, Stock = % 2800

Creditors agreed to accept 5% less. Expenses of realisation amounted to
2400.

RfFzaIsrTz 3,800 5310 [ 1 2 |merf%mm—ﬁm {0 5 i
&l ?ZT o

R — 28,000 T, ﬁﬁ&t MR — 1,800 5, TG ofy — 2800’6151!
A &qMGATCE 5% mmaﬁﬁavrﬁrwmmmqawwﬁmq 400 51
|

Prepare Realisation Account, Parmeis Capital Account and Bank Account.

TR B, SR T 21 OiE @ fBpiel avge )

Contd.



. . . 1 :’ 71/ =5
8. Explain the following terms : (any two) 22+ 2075

AR A R 2 (Rewzr gon)
48 Calls-in-advance (T = dt)
_(i> Under Subscription (T THTAS)

(iii) Pro-rata allotment of shares (IS SRGA)

OR/ 7z
Prepare a common size Income Statement from the following information : .
. ‘ 5
O BUR 73 QI TSl I I A oRES 34 ¢
®
Sales (Re)’ - 5,00,000
Cost of Goods Sold (R&F =« et wm) - 3,78,000
Ope:rating Expensés FRAIRT I W) 7 - 62,500
Depseciation (SRPFY) . - 22,000
Incorne from Investment (RFTSE a1 =im) - 70,000
Income Tax (HAF]) _ ! - l32 500 .
R . o]

30T ACOU [14]



19. Nanu and Manu are partners of a firm. The Trial Balance of the firm as on

31st March, 2019 was as under : 8
A I T 934 2ifSUR aqin | 31 715, 2019 SRS dfedmag g% femeg
TR M Qi ¢
Trial Balance (¥%¢ f@m #19)
Debit ® Credit @
Plant and Machinery 50,000 | Capital :
(TEwiifo) . Ui
Goodwill (3JAr) _ 5,000 - Nanu — 40,000
Sundry Debtors 31,000 ™ '
(RRy mwmE) . Manu — 30,000 | 70,000
e T,
Closing Stock 20000 | o dry Creditors 10,000
(AT TGS o) - (Rfad stemmR)
Salaries. (m) , 7000 | commission (wER) 3,000
Depreciation on Plant and Sundry Receipts 200
Machinery 5,000 | (Rf3y =ife)
(Taoilfeq eviTe T=me) Outstanding wages © 600
Stationery (WA 1,000 | (27w wGR) )
Insurance (1) 2,000. Interest on Investment 200
Cash'in hand (W o) [~ 1,000 | (RFELR @RS )
Investment (ﬁﬁt‘iﬂ‘)‘f) 10,000 | Trading Account:
Drawings (SI1) 3 . _ (@R ﬁb‘i"i) :
Nanu (A7) —- 4:009 . Gross Profit (5 @) | 50,000
Manu (919) "_i'oo_o_ 6,000 Bank Loan (<& 2¢t) | 4,000
1,38000 | = 1,38,000

‘Prepare Profit and Loss Account, Profit and Loss Appropriation ‘\ccount
and the Balance Sheet of the firm for the year ended 31st March, 2019, after
considering the following information : ,

NTACoUu - [15] . ' anld.



weTe fal SRz R w4 g 31 316, 2019 SiffeS O 2@l 4 A3 AR
TS~ (IR fE5171, FTIS-CARBH SoATareH f2oiel Wi Tggriam 2REe 4l &

(i)  Write off 21,000 as bad debt and provide 5% provision for doubtful
debts on remaining debts.

1000 T SFIERAA W A 41 ' WG AR AP (I ST 5%
ACRLEE A7 oigm IR = |

(i) Commission received in advance Z 500.
e oG wefed AREI 500 T |

(iif) Transfer 10% of Net Profit to General Reserve.

TS SN 10% AR s FMes FRI &l

(iv) Allow Interest on Capital @ 5% p.a.

TR 5% YW TER CoRS Jo =R =t |
20. Bijoya Limited issued 2,000 shares of Rs. 100 each at par, payable as
follows : . 8
On' Application - 30
‘On Allotment  — %30
OnFirst Call | — 220°
" On Final Call - 220 S
All the sh?res were‘duly subscribed for, called-up and paid-up, -except
the following: :

(@)  Arnab holding 100 shares failed to pay first call and final c\ail money.
(b)  Ayushi holding 60 shares failed to pay the final money.
All the above shares were forfeited after final call.

R Fifitrs af$<m 100/- B30 SF1R 2000 <7 Seriong Faaas BE o
T woT Al 4 AR TR A 4 RS R e e

YR e — 30/- T
RO S — 30/- 5l
AL TTT e — 20/- T
P8 OO e — 20/- 5

30T ACOU (18]



21.

SINIEIR A A Qw6 O SRE el 9 TE
CO T TR @R KA IR o 4 (el e |

(@ 100 ¥ AT 4 QR 227 ToR W FORT CERA 41 W R |
) 60 47 SRxtelg a wgfora puie w= A @ G R |
CATING ! ST FOIT we PR EEId 91 24 |

Give journal entries in the books of the company to record the above
transactions. ~

CARG (FCFPE Rk 97 AR @it a8 e R fail

\

OR/ A3t

() Mention three differences between .shares and debentures. -3

SR I AR AR [ =i S |

(h) Mention three uses of securities premium. 3
eifefs WA /O TR S A

() What is Authorised Capital of a company ? 2

@Bl AR IS A W [

Give journal entries in the books of PM Ltd. relating to issue of debentures
under the following conditions : ' 2+3+3=8

Ao R oo Givs wee Tl AR IW PM-Ffider <% wiam
ofefe frar o _ : :
() 120 8‘;/0 Debentures of 1000 each issued at a discount of 5% and

redeemable at par. : |

120 B1, 1000 TN 8% 71 5% TS R 3 ke e sificedm
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® 150, 8% Debentures of 21000 each issued at 5% discount and
redeemable at 10% premium.

150 B, 1000 TR 8% adeim 5% ate f{F w@A T 10% WHHIS
+ARTeMy | ‘

() 200, 7% Debentures of 3100 each, issued at a premium of 5% and
redcemable at 10% premium. '

200 B, 100 S 7% ws@ 5% Wi B w0 wiE 10% FETT©
sifReaEAm |

OR/ TZ3
Explain different methods of redemption of debentures. 8

- et SR R ooz 3T 4

}i/ Jugal and Govind are partners in a firm sharing profits and losses in the
ratio 2 : 1. Their Balance Sheet as on 1st June, 2019 was as under: 8

Jugal &% Govind 2 : 1 TFAISS FS W (ITHH 30 11 56 a3 efSor[
QoTE | 1 G, 2019 OIffeS (odEed Sgerid e [fam W sifes

_ Balance Sheet (T5S #@)

Liabilities (C71) () Assets (77If) | )
Capital : ' Gdodw.ill : 12,000
() 2 . , ) -

Jugal  : 30,000 - Sundry Assets 57,000

g Govind : 24,000 54,000 - (g Fif%)
Reserve (ﬁf@f) 6,000 . Cash at Bank . 6,000
Sundry Creditors 12,000 (EFC F9m 4¥)
(R4 sreR)
Bills Payable 3,000
(i =) '
75,000 : : ' 75,000

30T ACOU ' [18]



On that date Khirod was admitted as a new partner. He paid % 30,000
towards his capital but unable to pay anything for goodwill in cash. It was
agreed that goodwill will be valued at ¥ 21,000. The new profit sharing
ratio among Jugal, Govind and Khirod was agreed at3:2:1 respectively.

Pass Journal entries to record the above transactions and show the Balance

Sheet of the new firm.

TARE ©IRt FIAm GoA g S Boe I #iE | cde fem T
f&pitst 30,000 S0t Wt ficet, 5 Fia A GG 67 47 SRR EIRIfRE | 9]
Fraie @Rl =@ @ e W 21000%*@13:’3@‘3%7—{@19{1—
3:2:1 T3 3 Frae @Rt 2=

TG Wﬁmmwmﬁmw - SO Bgeea
o4FS |

OR/ 739 .

(i} Mention any three features of partnership business. | 3

SIS AT Rt fofbr ey S 3t

ﬁf)/ Mention five distinctions between “Fixed” and “Fluctuating” Capital.
7 T IS SRR TR W A5hy Ay S =i '

30T ACOU ' [19]



